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Topic 1, Multiple Choice Questions

Question: 1

You are configuring business units for your customer and have defined two business units: Business

Unit America and Business Unit Singapore.

Based on discussions with the customer, you configured Business Unit Singapore as Procurement

Service Providers in the Manage Service Providers: Business Unit America task.

What is the role of Business Unit Singapore?

A. To process requisitions, supplier information, and payable invoices for Business Unit America

B. To process procurement orders, payable invoices, billing, and revenue for Business Unit America

C. To process requisitions and negotiate supplier terms for Business Unit America

Answer: C

Question: 2
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You have created a new material status Transfit allowing Miscellaneous and Purchase Order Receipt

transactions.

How can you assign Transfit as a default lot status?

A. Set Default Lot Status under Lot, Serial Number, and Packing Unit on the Manage Inventory

Organization Parameters page.

B. Set Default Lot Status under Item Specifications in Master Organization.

C. Set Default Lot Status under Associate Item on the Configure Subinventories page

Answer: B

Question: 3

Which interface tables should be populated to import inventory transactions using the FBDI

template?

A. INV_BALANCE_TXNS_INT and CST_I_INCOMING_TXN_COSTS

B. INV_RESERVATIONS_INTERFACE and INV_BALANCE_TXNS_INT

C. CST_I_INCOMING_TXN_COSTS and INV_TRANSACTIONS_INTERFACE
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Answer: C

Question: 4

You are planning to create a new transaction type, Audit Movement, to track all inventory

movements planned for periodical audit in your warehouse.Which statement is true about the Audit

Movement transaction type?

A. Material status control cannot be enabled.

B. User-defined transaction source can be included.

C. User-defined transaction actions can be included.

Answer: B

Question: 5

Item AS56001 has 10 on-hand quantities. In the Item Availability window, Available to Transact is

equal to On-Hand Quantity. However, Available to Reserve is 0 and no reservations exist for this item.

What could be two reasons for 0 Available to Reserve?
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A. The item lot material status is not allowing reservations.

B. The inventory organization is not allowing reservations.

C. Pending transactions exist for this item.

D. The item is lot-controlled and the lot has expired.

Answer: A, D


